Write the equation of this parabola in Vertex Form. Write the equation of this parabola in Vertex Form.
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Write the equation of this parabola in Standard Form. Write the equation of this parabola in Vertex Form.
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Write the equation of this parabola in Vertex Form.
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Write the equation of this parabola in Vertex Form.
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Write the equation of this parabola in Vertex Form.
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Write the equation of this parabola in Vertex Form.
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Write the equation of this parabola in Vertex Form.

Vertex is (6, 2) and the y-intercept is 146
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this is the point (0,146)
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Determine the values of a and k so that both
points are on the graph of the quadratic function:

given y=a(x-6)>+Kk
and the points (3,33) & (1, 65)
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X L,} using each point, replace x and y with the coordinates
creating a system of equations.
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@ Now that you know the value of a take one of the
equations and subtitute 2 for a and solve for k:
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Write the equation of this parabola in Vertex Form.

Vertex is (-1, 8) and the x-intercept is 4
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sketch what this parabola

could look like (-1, &) S image: Original
5 _/@
g ® _
%
> —=
M 2
Y- i = (>< +Ij +8
opens down
You can now finish Hwk # 8 Sec 5-3
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Don't be surprised by a Hwk Quiz Monday over
Sections 5-2 and 5-3:

e Finding the max of a quadratic function and
when it happens.

¢ Graphing a parabola in Vertex Form.

e \Writing the equation of a parabola in Vertex Form



